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No A & EFL Bl BE B BA& B BA B B KD AN B E i3 we | IES

1 FH WA PR REERES 25 5.900 [17 9.900 [22 2.750 [22 18550 [20.350 [29.600 |13.300 [63.250 | 3
2|  HWERZER 3 [BEEH— 18 7.150 |22 9.300 |16 4.400 |17 20.850
3| HWE PR 3 ;ZML 22 6.200 (16 10.000 [ 12 5900 |16 22.100
4] HWEDER 3 |RLEME 20 7.000 |20 9.700 [21 3.000 |21 19.700

5| INERh=EER 3 [LUAfIR 13 8150 [14 10.100 [ 14 5.850 |14 24.100 [26.250 [31.050 [ 21.800 [79.100 | 1
6| /NERPFER 3 |F%x Fav4&E 16 7650 | 9 10300 | 7 7500 | 9 25.450
71  INERh=RR 3 |[FA A 10 8400 | 7 10450 | 9 6.600 | 9 25.450
8| /NEfHREIR 2 ¥ E 6 9700 [ 9 10300 | 6 7.700 | 6 27.700

9| MmPLE@EPEK 2 |hnpkiEE 10 8400 | 4 10500 [ 14 5.850 [13 24.750 [24.700 [31.200 [17.250 [73.150 | 2
10|  WPEERBPR 2 |2 E L 12 8300 |12 10200 | 8 7.200 | 8 25.700
11|  wWEERDER 2 (RIS 14 8000 | 4 10500 |18 4.200 |15 22.700
12|  WREERDER 2 | ZHEE 17 7.300 |14 10.100 |23 2.600 |20 20.000
13|  HWEERK 3 [Hi= RS 21 6.800 [24 9.000 [17 4.300 [ 19 20.100
14| FHMERZK 3XFH & 24 5950 |22 9300 (26 1.400 |24 16.650
15  HMWEPFKR 3 |EHEXK 3 10.700 [ 17 9.900 | 2 11.300 | 3 31.900
16| #WPE4+ARFR 2 [#R ERON 25 5900 (19 9.750 [24 1.800 |23 17.450
17] #WPELEEPER 2 | R&IJIEE 27 5800 |27 6.600 |25 1.700 |26 14.100
18]  WPE LR 2 |pEHEE A 23 6.050 |21 9.350 [27 1.200 |25 16.600
19|  wWEERDER 2 | HEE 28 5.150 |26 7.650 |28 1.000 |27 13.800
20  INERHER 3 [ZEpfEN Xy X IHU# X5y
21 INERPERAR 1 |HREX 2 11150 | 3 10.800 | 3 '10.200 | 2 32.150
22| AR 2 [FEAIZ 3] 8 8800 | 8 10.350 |11 6.300 | 9 25.450
23|  ARZEHER 2 (LA E]] 6 9.700 |12 10.200 |10 6.400 | 7 26.300
24| SEREHFEKR 2 |¥E 23 19 7.050 [28 0.000 |19 3.800 |28 10.850
25  AZEHBFER 1 | AREFTK 59900 | 2 11.100 [ 4 9900 | 4 30.900
26| RIRPFKR 3 | KEH— 1 11400 | 1 11850 | 1 11.600 | 1 34.850
27|  RKMEPFKR 1 |EIEEE pY, 4 10300 | 4 10500 | 5 9.700 | 5 30.500
28|  ARILUEHRFR 2 [T e 9 8700 [ 9 10.300 |12 5900 |12 24.900
29| AR R 2 [{HE &% 1577900 |25 8800 |20 3.500 |18 20.200

A=

30| BARKIEHE 3| RKFER X Xy HU | # X5y
31| BAR{KIEH=E 2 |REAITK 11 8800 [17 10.100 | 3 11.100 | 9 30.000
32| BAGKIEHE 1 | R¥ A 7 9900 | 6 10650 | 7 10.000 | 7 30.550
33| BARAKIEHE 2 |44 B [A] 1 11500 [ 2 11400 [ 5 10.600 | 2 33.500
34| BARKIEHZE 1 |HFEXR 3 11.300 | 5 10.700 | 4 10.850 | 3 32.850




